Apartment in Zurrieq



Reference No: 240151029-887

Zurrieq, South



€315,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **129**

Bedrooms: 3

Apartment - For Sale - Zurrieq

ZURRIEQ - New block in this sought after location, all units are being proposed in shell form with all common parts ready plus facade back and front and any shaft apertures. This project is estimated to be ready approx. end of 2025. Finishing packages also available from developer. Block is freehold. Call us for more information and time frames.

Features

En Suite

Double Glazed

Balcony

Entrance Hall

Terrace

Rooms

Bathroom: 2.35 x 2.5 m (5.88 m2)

✓ Bathroom Ensuite : 1.2 x 2.8 m (3.36 m2)

Double Bedroom : 3.24 x 3.8 m (12.31 m2)

✓ Double Bedroom : 3.3 x 3.2 m (10.56 m2)

Double Bedroom : 4.8 x 2.8 m (13.44 m2)

Kitchen/Living/Dining: 4.2 x 8.3 m (34.86 m2)

Open Space : 1.7 x 4.25 m (7.22 m2)

Open Space : 1.3 x 7 m (9.1 m2)

Open Space : 8.5 x 1.3 m (11.05 m2)

Gallery





Kurt Psaila Montefort RE/MAX Edge - Attard

M: 99009198

E: kpm@remax.com.mt

T: 21480164

RE/MAX Edge - Attard 4Triq Antonio Schembri, Attard, Malta